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QUESTION 1

After a Belt has put data through the smoothing process which chart would be used to look for trends in the data?
A. Moving Average Chart

B. Multi-Vari Chart

C. X bar Chart

D. Pareto Chart

Correct Answer: A

QUESTION 2

The ability to repeat the same measurement obtained with one measurement instrument used several times by one
appraiser while measuring the identical characteristic on the same part is known as

A. Repeatability
B. Bias

C. Linearity

D. Reproducibility

Correct Answer: A

QUESTION 3

The purpose of a Process Map is to identify the complexity of the process and to record all actions and decision points
in the process.

A. True
B. False

Correct Answer: A

QUESTION 4

Inferential Statistics is largely about Significance. There are both Practical and Significance to
consider during an analysis of data in a Lean Six Sigma project.

A. Problematic

B. Impractical
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C. Usable

D. Statistical

Correct Answer: D

QUESTION 5

The Regression Model for an observed value of Y contains the term ?0 which represents the Y axis intercept when X =
0.

A. True
B. False

Correct Answer: A
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